Reflection on S about great circle

OM '=OM —2(OM |N )N

Rotation about axis passing through the center O with an angle ¢ on the sphere S°

We define a rotation ROt by a unit vector N (a,b,C) of its axis and an angle @ . So the matrix
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ac bc c? 0 01 b a 0
X' X
ROt(M(X1y1Z)):M'(Xl,yl,zl)<:> y' :A!ﬂ y
z' z

Prove:

OM =OM | +OM l=(<0|v| NN )+(W—<W\N IN ) then

OM "‘=OM |+ cos@ OM | +sing (N XWL) .So

CW=(1—COS(D).<W‘N > N +COS(D.W+Sin(p.<N XW).



Rotation about green axis with an angle 100°




Evolution of equilateral spherical triangle
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